_f "‘f'_;;;._i._.,: _ g
{ | . 5))
i oM
e RS £ N
- (o))
5200 W. CENTURY BLVD. 3 FOSE 65
2 0.... .... £ T % ‘n_
LOS ANGELES, CA 90045 37.50" MAX. O.A. %7 et S 5888
FRAME WIDTH “W“, kPR 2 5o
"’lH|||L\‘§; gR%2
m d .
o ° ° o § o xz<
Smooth / Wood Grain / White Wood Grain }J N ITEELTY
o o 0 = on
Rustic / Mahogany QQ{ £9% 33&0
s,
Series Fiberglass Door : 52 &
0 cui
INSWING / OUTSWING ! i &
"IMPACT" 2z @
z & Sle)
= = 5=
s 2 o8 SF
o & =9 3¢
G 205 £
T NEEE
GENERAL NOTES z 2 <&l Bg
e AN T
e > o S
1. This product has been evaluated and is in compliance with the 5th Edition S é X g S ;i_jh&J
(2014) Florida Building Code (FBC) structural requirements excluding the "High X 5 § Bl X
Velocity Huricane Zone" (HVHZ). = o &
S 5 x|
2. Product anchors shall be as listed and spaced as shown on details. Anchor & = o
embedment to base material shall be beyond wall dressing or stucco.
3. When used in areas requiring wind borne debris protection this product
complies with Section 1609.1.2 of the FBC and does not require an impact
resistant covering. This product meets missile level "D" and includes Wind Zone 4 e
as defined in ASTM E1996 and Section 1609.1.2.2 of the FBC. =
‘ o
e

4, For 2x stud framing construction, anchoring of these units shall be the same as
that shown for 2x buck masonry construction.

5. Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

1 |04/22/15 |UPDATE TO 5TH ED. (2014) FBC

=
S
TABLE OF CONTENTS _
SHEET# | DESCRIPTION S
1 Typical elevation, design pressures, & general notes DATE: 02/16,/12
2 Door panel details scate: N.T.S.
3 Horiz.om‘ol Cross seFfions : DWG. BY: JK
4 Vertical cross sections . . INSWING 37.50"x82.00" | +645.0 -70.0 cHk. B:  LFS
5 Buck and ffme cn;:)r(wgnni - 2X buck mclstonry:r construction DRAWING o=
6 Frame anchoring - uck masonry construction " "
7 Bill of materials 8?componen’rs . OUTSWING | 37.50" x 80.37 +65.0 -65.0 FL—15213.1

SHEET 1 oF 7

R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.1-.8.dwg, FL-15213.1

© 2012 R.W. BUILDING CONSULTANTS INC.



‘"ON| SANVLINSNOZJ aNIiaging "m*'y z Loz @

€186 "ON ‘v'O 3dg8d SNOISIATY
hmmm.mmo.nww {"ON euoyd A8 J1vd [ON]« -
S6SEE T4 ‘OOMIDA ‘OEZ XO8 ‘O'd \§ SWv130 T3Nvd 5000 Mr | 084 (v10z) "G3 HIS OL 3vadn| si/zz/vol L || A |X|L| ™ 7_
N _.wkzﬁ._:mzoo oNIaTINg g AJBN3SSY d0 1dvd ol L e PR R
W VNG, 3000 SSv1943al NG g2 o
RO WA 7 60¥SH ‘ON ‘3'd ONI 04dLSY1d ol . |&|&lg !
S O oo HOYS ’, IPIWYDS 4 Uopuk NI ER "
l&/..&ﬂ N%..&s\\ _— HEIEIEIE e
~ g %, 0“:@ peipdelq sjusewnoog :10NA0dd S|3|8|35|8 %
3 .... ..,.. =24
ivi ¥ xIver
F . e0bE¥ON ; =
\\\ oaco .-o III
% o NN A, N
%, .\Q.. ......... BN o
/, N
\\\\ \\:Iow W////I D
Hippnw i \@ S
LLl
bEl ()
> =
L (@)
pref
B . Z g e A
X X S N PR A 5 I ~
AP A NS -
A O
S { & :
O ® ® %
= >
[NN]
—
y i
S s B
= " ’ — X e 3
* 35" L .rlu..nnn.. m @ n.Hh.
3 W0S°L g
LrEy R
B w = w5
. T~ t - g1 = =O
: ® ®
‘ S
; ﬂ s
3 |
@\ . =
@& 5 ﬁ
= RS
®
e — 851 = \C
o N— 8
O @) L
o oz I
B i < — 0Tl =
= \ = :
= \\ n ) =
o T 3 WS J
> — o
o | gz Fofiaig SE
T o | =|5 g ; SE
v EE L G ol . i aa|O
& a ] : s
. z
2.0 <
20 ac
in O (o]
NQZ o
3 < <
~—— IHOEH TINVYd 400d ‘XYW ST 6L —

TZ 'BMp'g-T'€1ZST-14WuaunD\sBumelq - D\ETZST-T4\s[ercuddy 3onpoid epLOlI\LNINYINYIA du] ‘Oidiseld\siualD\y



R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.1-.8.dwg, 3.1

1-1/4" MIN.
EMB. (TYP.)

MR

1-1/4" MIN.
EMB. (TYP.)

INTERIOR

-

EXTERIOR

7“3\ HORIZONTAL CROSS SECTION

w Shown w/1X sub-buck

0.15"
C'SINK

/111111171177

(TYP.)

INTERIOR

A\

7“2\ HORIZONTAL CROSS SECTION

\U Outswing shown - inswing
also approved

EXTERIOR

(27
3

S &b

INTERIOR

0.15"

CSINK — |=—

(TYP.)

@@

6
16

\

EXTERIOR

IeY:

71"\ HORIZONTAL CROSS SECTION

\y Outswing shown - inswing

also approved

L~

b

Y

1-1/4" MIN.
EMB. (TYP.)

pJ

. FLORIDR. -+

S/ONAL

i

2
7,
N\Y
/,/,
BUILDING CONSULTANTS, INC.

813.659.9197

Z
P.O. Box 230, Valrico, FL 33595

Phone No.:
FBPE C.A. No. 9813

W

Documents Prepared By:<,

Lyndon F. Schmidt
P.E. No. 43409

R

PLASTPRO INC
FIBERGLASS DOOR

PART OR ASSEMBLY:
HORIZONTAL CROSS SECTIONS

PRODUCT:

K
BY

REVISIONS

1 [04/22/15 |UPDATE TO 5TH ED. (2014) FBC

L
<
()
S
2
2

0ATE: 02/16/'1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—15213.1

SHEET 3 oF 7

© zo12 R.W. BUILDING CONSULTANTS INC.



‘ON| SELNVLINSNOJ aNIgung ‘m's g2log (o)

€186 'ON °'v'O 3d48d SNOISIATY

L616°6G9°¢l8 :'ON 8uoyd Ad 31vd [ON

S6SEE 14 ‘OdUIDA ‘OgZ xo8 ‘O°'d Ev SNOILD3S SS040 TwOlLY3A Ar 084 (¥10Z) ‘a3 HIS 0l 3.vadn| sL/zz/¥0| |
*ONI ‘SINVLINSNOD 9NIaTing @ ‘A18WISSY 4O Ldvd

4000 SSY1943414

60%¥gH "ON ‘3'd “ONI 04d1SYld
IPIWYDS 4 uopuh

%, Y% :Ag pepdeld sjuewinoog :10NAa0dd

JK
LFS
oF _7_

N.T.S.

FL—15213.1
4

oaTE: 02/16/12

DRAWING NO.:

SCALE:
DWG. BY:
CHK. BY:

SHEET

("dAL) "aw3
‘NIW.#/1-1

INTERIOR
@)

y/i
%v
> bb

W Shown w/1X sub-buck
EXTERIOR
0
%%
IR T KN
/“ 4\ VERTICAL CROSS SECTION
\U Inswing configuration

INTERIOR

EXTERIOR

7“2\ VERTICAL CROSS SECTION

("dAL) ‘a3
"NIW ¥/ 1-1

("dAl)
—— JINISO
S1°0
(274 (074
o = o =
oz ®) oz o
El S E =
z| Y2 = . O
o8 25
A|.E “..m
ol Q|2
Slzo 2|2
Jgs OIE
N Mwm N.w
m.mp Cmu
E|22 El3
S g3
o o ) >0
D e @D
= =
> > e
Ll Ll

Ty 'BmMp'g-T'€TZST-14\Muaund\sBuimelq - D\ETZST-14\s[erouddy 1onpoud epLoj\LNINVINYId dul ‘oudiseld\siudlD\y



TYP. HEAD & JAMBS

_>l 4" | —

9.44"

40.71"

71.96"

16" MAX.
ON CENTER

2X
BUCK
MASONRY
OPENING
TN
BUCK ANCHORING
CONCRETE ANCHOR NOTES:

. Concrete anchor locations at the corners may be adjusted to maintain the min.

edge distance to mortar joints.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

. Concrete anc

HINGE JAMB

TAPCON® 1-1/4°
ELCO "
ULTRACON 1-1/4

WOOD SCREW INSTALLATION NOTES:

—

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

BUCK

FRAME

MASONRY
OPENING

B /

__TYP.HEAD &

JAMBS

FRAME ANCHORING

Masonry 2X buck construction

31

//

14" MAX.
ON CENTER

I/

d

il

‘J,/

T T T

‘/d

//

I/

HINGE JAMB

39.12"

5.5"

STRIKE JAMB

N

DY
@]

™

//
4

7

7

@—"m

/4
STRIKE PLATE DETAIL

10

o

10

)

G M

z

=

S

0 .

E oo

Z 0

St

4 00

> >y

255

on®

O N -

o

o O %Xz

Eo F0o

€O I .¢&

O < =069

(20} 2 % C

4 Do
lLt
o
=
£z
T .
€ ul
2o

=
S
o=
=0
R
g =5
oS QZ)%
Z9 =3
O e W
eS| =&
o =
O|l= 3
gn:l;ni L
L
aB|g 83
= LLQ: Xx
© ol OO
a 22
< =
>
a o N
x>
m
3
L
-~
o
N (%))
WG
o
e )
Il =
=
L
O
o
2
o
2
D
n
Lt
N
QS
<
0 O
~lo
z
oaTE: 02/16/12
scate:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—15213.1

SHEET 5 oF 7

R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.1-.8.dwg, 5.1

FBPE C.A. No. 9813

© zao12 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.1-.8.dwg, 6.1

9.46"

40.71"

71.96"

HINGE JAMB

CONCRETE ANCHOR NOTES:

|
9%,

-
=
9%,

L.

| a— 6"

BUCK

FRAME

OPENING

MASONRY \
w

TYP. HEAD &
JAMBS

o —]

14" MAX
ON CENTER

1. Concrete anchor locations at the comers may be adjusted to maintain the min.

edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

W -
tapcon®| 174
ELCO ,, . . .
uttRacoN®| 174 1-1/4 1 4
ITW L L\ i 1
areon® | 318 11/ 3 1-1/

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the splitting of wood.

FRAME ANCHORING

Masonry 1X buck construction

31

39.12"

5.5"

STRIKE JAMB

//

I/ /@
®

|

k1

.ﬂh/

i/‘

//
7

HINGE JAMB

1
100,

: .
58
ZOill
=03
- .
- :-.
% D,
7,
%, x
Y
A

\
@

7
1

STRIKE PLATE DETAIL

//,
W,
XA 10
%z 2
W= 0
L - .M
o, A=0 M
E:<=Zi[\
0: 2= .o
& Oz 55
oSz 8o,
.@\ <-—0)
OS> FE =0
° S J00®
N :)>n-m
'3\\ 0N .~ .
W ggeg
& 8&:®
- B o x2<
2 E Z@R,°
s Eea F0o
a (@] _|_CLIJ
£aY 5025
a2 @mdol
2w,
€ o
 C
£ 0% §
3 U .
o su
o o
=
o
=
(&
=
o O
Ne) =0
OO xr=z
ZQ QO
ol S
nozmﬁ >>
B3lg <2
o|= 5
Ld| v <<
EL%Q%E
3 g S
>
=) - 2
ol |g =
a & x
5%

04/22/15 |UPDATE TO 5TH ED. (2014) FBC

1

REVISIONS

L
<
()
S
=z
2

oaTE: 02/16/'1

SCALE: ~ N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—15213.1

SHEET 6 oF 7/

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\Florida Product Approvals\FL-15213\C - Drawings\Current\FL-15213.1-.8.dwg, 7.1

BILL OF MATERIALS

ITEM] DESCRIPTION MATERIAL
1 | MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C50
2 | 1XBUCK SG >=0.55 WOOD
3 | 2X BUCK SG >=0.55 WOOD
4| 1/4"MAX. SHIM SPACE -
5 | 1/4"X 2-3/4"PFH ELCO OR ITW CONCRETE SCREW STEEL
6 | #10x2-1/2" PFH WOOD SCREW STEEL
8 | #9 x 3/4" PFH WOOD SCREW STEEL
9 | DOOR SKIN (MIN. 0.075" THICK) FIBERGLASS
10_|INSWING VINYL DOOR BOTTOM SWEEP BY ENDURA VINYL
T0A | VINYL DOOR BOTTOM SWEEP #3628 BY HOLM IND. VINYL
11_| RENFORCEMENT WOOD FOR LOCK WOOD
12 | FINGER JOINTED PINE JAMB WOOD
13 | #9 x 2-1/4' PFH WOOD SCREW STEEL
14_| BOTTOM RAIL CELLULAR PVC
15_| INSWING ADJUSTABLE THRESHOLD BY ENDURA ALUM. / WOOD
15A | INSWING ADJUSTABLE ALUMINUM THRESHOLD BY DLP ALUM. / WOOD
16 | FORCE 5 WEATHER STRIPPING BY ENDURA FOAM
T6A | COMPRESSION WEATHER STRIP QLON 650 BY SCHLEGEL FOAM
17_| KWIKSET KEYED ENTRY - SIGNATURE SERIES STEEL
18_| KWIKSET DEADBOLT - SIGNATURE SERIES (780) STEEL
20 | POLYURETHANE FOAM BY NANYA POLYURETHANE
21 |4 x4 BUTTHINGE STEEL
23 | POLY FIBER JAMB COMP. / VINYL
24 | HINGE & LATCH STILE CELLULAR PVC
25 | TOP RAIL CELLULAR PVC
26 | DEADBOLT STRIKE PLATE STEEL
27 | LATCH STRIKE PLATE STEEL
28| OUTSWING BUMP THRESHOLD ALUM. / WOOD
29 | HINGE & LATCH STILE RENFORCEMENT LVL
30 | 1/4"X 3-3/4" PFH ITW CONCRETE SCREW STEEL
31 | #9x 1" PFH WOOD SCREW STEEL
32 | 1/4"x 3-1/4" PFH TW CONCRETE SCREW STEEL
33 | 3/16" X 3-1/4" PFH TW CONCRETE SCREW STEEL
40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -

1.21"

re——— 4.56"

75"

3

~— 243" ——‘

( : ) JAMB

2,12

4.56"

——

ADJUSTABLE INSWING SILL

15A

5.62"

1.21"

\ =

———— 456 ————————

243" !

23 }-POLY FIBER JAMB

1.25"

2t

OUTSWING BUMP THRESHOLD

28

—

@ ADJUSTABLE INSWING SILL

»j 137" f=—

0n
o0
10
.9
(Z)l’)
""—Il\
Lo
0w .
E oo
Z 90q
o ST
B Jo w0
D>
D 2
Y 8Rr°e
@ S
v U O Xz
= 0
o z
5§ Eo FQ0o
a £0 o R =
28* =0
T 2] D% £
< moao
2
¢ c
E 6%
3 U .
g gul
a 2a

FBPE C.A. No. 9813

PLASTPRO INC
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

K
BY

1 104/22/15 |UPDATE TO 5TH ED. (2014) FBC

REVISIONS

L
<C
()
S
Z
2

DATE: 02/16/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—15213.1

SHEET /7 OoF 7

© zo12 R.W. BUILDING CONSULTANTS INC.



